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A’ is 3 times as good a workman as 'B’ and therefore is able to complete a job

in 36 days less than ‘B’. In how many days will they finish 40% of the work,

working together? Yo' )= %.
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Sita and Geeta start at the same time to ride from place A to place B, which is
90 km away from place A. Sita travels 3 km per hour slower than Geeta. Geeta

reaches place B and at once turns back, meeting Sita 15 km from place B.

Geeta's speed (in km/h) is:
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The length of a rectangle is three-fifth of the radius of a circle. The radius of

the circle is equal to the side of a square, whose area is 6400 m?>. The perimeter

(in m) of the rectangle, if the breadth is 15 m, is:
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A rectangular room has an area of 60 m> and a perimeter of 34 m. The length

of the diagonal of the rectangular room is same as the side of a square. The

perimeter of the square (in m) is:
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The marked price of an article is Rs. 400. After allowing a discount of 20% on

the marked price, a shopkeeper makes a loss of Rs. 48. His loss percentage is:
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The selling price of an article is Rs. 2,300 and profit percentage is 25%. If the

artlcle is sold again for Rs.1,656, then what is the loss/gain percentage?
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more for Rs.800. What is the original quantity (in kg) of wheat?
sifer et 78 St shrere F 209 St weit 36 RO, T 800 T 5 et arfores

1 o) feRaT 22 7 _ 9,
Tig Ut 1T 71 T Y wer A (fhet W) e %0//0,2 o




SSC MTS 2022-23

Aman bought 2 articles for Rs. 3,000 each. He sold one article at 5% profit and
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the other at 10% loss, What is the total profit or loss percentage?
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¥ 21,000 is divided among A, B and C in such a way that the shares of A and B

are in the ratio 2 : 3, and those of B and C are in the ratio 4 : 5. The share of B

is:
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A town with literacy rate of 85% has a population of 2500. If male

population is 55%, and 92% of them are literate, then find the literacy rate of

Temales in the town.
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